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 Part 1:Fill in the blanks.
1.When the carbon dioxide is in the solution, the lime in the residual product is recovered……

2. Chemical equation to explain the forming stalactites in cave is…. 
3.To sodium hydroxide used electrolytic method has brought the solution pane.

4.To put natrium metals in a solution of cuprum sulphur.What phenomena happens........

5.There are saline Aluminium chlorum jumble into impurities cuprum chlorum, Which agent to clean aluminum salts is................................?
6.To drip step by step clohidric acid into the cup holder on a piece of limestone to acidic blance.The observable phenomenon is....................................

7.To dissolve 2,4grams of a metal oxide divalent into 21,9 grams of aqueous Hydro chlorum.What is the oxide..........................?
8.To liquidate 16 grams of ferrum oxygenium by residual carbon oxide the resulting gas enters the canxihidroxit solution residua obtained A grams precipitate.What is the value of A...................?
9.To put four grams of mixture of Magnesium and Magnesium oxide completely efects with dilute sulphuric acid solution residue.Volume of the gas obtained is 2.24 liters of gas( standard condition) .Mass of Magnesium and Magnesium is.......................?
10.To put 4,6 grams of a metal X chemotherapy I completely effects with water for 2,24 gas hidroxit liters(( standard condition),Which is X- metal....................?
Part 2:
To mix 23,6 grams misture consists of Magnesium,Ferrum,Cuprum effect with 91,25 grams Hydroclorua solution 20% to gain A solution and 12,8 grams insoluble substances.Mass of metals in the mixture is.

ANSWER KEYS
Part 1
Câu 1:     Ca(HCO3)2
Câu 2:    CaCO3  +  CO2   + H2O   ( Ca(HCO3)2
Câu 3:   solution NaCl saturated.

Câu 4:   Metal melt gradually came off,there are gas bubbles escape,appeared to precipitate blue.
Câu 5: Al

Câu 6: pieces of limestone to disolve gradually to the end,have the wrong gas appear.
Câu 7:CuO

Câu 8: a = 30g.

Câu 9: 2,4g và 1,6g

Câu 10. Na

Part 2
Equation:

                       Mg + 2HCl ( MgCl2     + H2   (1)


            Fe + 2HCl ( FeCl2     + H2          (2)

Because Cu doesn’t effect with HCl so insoluble solids is  Cu has mass 12,8 grams.

The mass of Mg và Fe : 23,6 – 12,8 = 10,8(g)

+ mHCl  =  91,25.20/100 = 18,25 (g)

+ nHCl = 18.25/36.5 = 0,5 (mol)

+ To suppose mol of metal Mg và Fe in the mixture is x and y

+ According to the article subject and equations number 2 ,I have:


24x  +   56y  = 10,8

                                2x    +     2y  = 0,5

I have:  x = nMg   = 0,1 (mol) ( m​Mg = 0,1.24 = 2,4 (g)

                       
y = nFe = 0,15   (mol) ( m​Fe  = 0,15.56  = 8,4 (g)


The solution in the first mixture: 
mMg   = 2,4 (g)

mFe   = 8,4 (g)


mCu   = 12,8 (g)

===========The end==========
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